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31. Let x, y are integers such that xy + x —y = 13 and x* +y* = 25 What is the value of x — y ?




32. in the figure below , a point P is inside an equilateral triangle with side length 44/3 so that the

distance from P to the two sides are 1 and 2. Find the distance from P to the third side

33. How many positive integer n satisfy the following condition : (130n)° > n'® > 22%
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35. There are 47 distinct positive integers on the board , the sum of which is 2016. At most how many of

these positive integers are odd?

36. Let x* +y? = 10 andxy =3 Ifx<y and y*-x*> 0 then find the value of y* - x*

37. LetA+B =C,C+D =E, A+E =F and B+D+F = 45 If A=4 then find the value of 4E.

38. Let A be a counting number which divisible by 7 but A is divided by 3, 4, 5 and 6 with remainder 2

What is the value of A ?




39. Trapezoid ABCD has AB // DC , DAB=55 , ABC=35° , AB = 2558 cm and DC = 2016 cm

If M and N are midpoint of DC and AB respectively , what is the length of MN in cm.

40. Quadrilateral ABCD is inscribed in a circle with radius ~2 cm. If the length of AB | BC and CD is

J6 , 2 and J2 cm respectively. What is the length of AD in cm.




